@ Check whether the following equations are consistent or inconsistent.
Solve them graphically.

a2 3x+2y=5
2x-3y=7

Sol: Given equations, 3x+2y=5 =3x+2y-5:=0
2x-3y=7 =2x-3y-7=0

On comparing with a;x + by +c¢; =0 ; weget, a,=3; b=2; ¢i= -5

azx + by +c; =0 a;=2; b,=-3;¢c= -7
1} 3 b 2 b
= —1 = p 1= = = M * 1
a y/ bz ) ar b2

.. Given equations are consistent and they are
intersecting



Now, to represent given equations on graph,

=>For 3x+2y=5 =2y=5-3x =2Y-*

X -1 | 3
y = == 4 1 -2
ey (1,4 1Q,1)  @3,-2)
=>For 2x-3y=7 =23y=2x-7 =Yy-*=
X -1 2 @
y = 2 -3 -1 1
) [ (1-3) 2,-1) | (5.1)

5-3x
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2x —7
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x=-1 =2vy-= 2
5+3 _ 8
>y=5 =3 74
x=1 =>y:5—2(1)
_5-3 _2 _q
=Y 5 T3 T
x=3 =)},:5—2(3)
5-9 _ —4 _
Sy=5 =g 70
x:"l = -2(_]?-’)_7
-2-7 _ -9 _
=Y = 3 -?—-3
22 o _2(2;—7
_4-7 23 _ 4
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~ Intersecting point / solution is (

T3



@ Check whether the following equations are consistent or inconsistent.
Solve them graphically.

P2x-3y=8
4x - 6y =9

Sol: Given equations, 2x-3y=8 =2x-3y-8:=0
4x -6y=9 =24x-6y-9:=0

On comparing with a;x+ b1y +¢; =0 ; weget, a;=2; by=-3. ¢;= -8
a,x+b,y+c, =0 a,=4; b,=-6; c=-9

2 1 , by -3 1 . 8 _
- —=- -==, —zZ — = -—, p == | == —=%—
4 2 " b, -6 2 )

.". Given equations are inconsistent and they are
parallel



Now, to represent given equations on graph,

=>For 2x-3y=8 =3y=2x-8 =2y-=

X 1 4
y==— | -2 0
(x,y) | 1.-2) | (4,0

=>For 4x-6y=9 =26y=4x-9 =>y-=

X 0 3
y=22 |J=-15| ~=05
(x,Vy) (0,-15) | (3,0.5)

2x —8
3

4x —9
6

x=1=y==7"— =73
_ _ 2(4)-8 0 _
x=4 =2y =— =3 0
. _4(0)-9 _ =9 _ -3
x=0=>y=— == 5
_ _4®-9 _3 _1
x=3=2y=—(— = -3



8 _~

2x - 3y

CY)

1,-2)

(x,y)

9_~

4x - 6y

| N

(0,-1.5) | (3,0.5)

(x,y)

«. Lines are parallel and have no solutions




Check whether the following equations are consistent or inconsistent.
Solve them graphically.

3 5
£Iox 3y =7

9x - 10y = 12
Sol: Given equations, >x+2y=7 =9x+10y-42=0 (v by LCM)

9x-10y=12 =9x-10y-12=0

On comparing with a;x + b1y +c¢; =0 ; weget, a;=9:; b;=10; ¢;= -42

a,x+b,y+c, =0 a,=9; b,=-10;c,= -12
b
:ﬂzgzl; ﬁ:ﬂ:-l s g
a, 9 b, -10 az; by

.". Given equations are consistent and they are
intersecting



Now, to represent given equations on graph,

42-9
= For 9x+10y-42=0 =210y=42-9x =y = 10x 3 _42-9(3) _ 15
X=3=2Y="1 T

=15

* 3 8 42-9(8) 30
42-9 x=8 2y=— = = -3
y === 15 -3 10 10

(x,y) (3,15) | (8,-3)

-12
= For 9x-10y=12 =10y=9x-12 =y ==

10
_9(3)-12 _ 15 _
X 3 8 x=3=2y=—71 -10-1.5
_ 9% -12
T 10 1.5 6 x=8 =>y:9(81);12:ig:6
(x,y) (3,1.5) (8, 6)
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u
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+. Intersecting point / solution = (3,1.5)
= (3,3)

X 3 8
y= == 15 -3

3 (x,y) | (3,15)| (8,-3)
1 — —
==i 9x-10y =12 _~
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— = 2= 15
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@ Check whether the following equations are consistent or inconsistent.
Solve them graphically.

A 5x -3y =11
-10x + 6y = -22

Sol: Given equations, 5x-3y=11 =5x-3y-11=0
-10x + 6y=-22 =>-10x+6y+22=0

On comparing with a;x + by +c¢; =0 ; weget, a;=5; b;=-3; ¢;=-11

a,x+ byy+c, =0 a,=-10; b,=6; c,= 22
=>a1— 5 :_l'ﬁ—__g-_l‘ C_I:—_llz_lzﬂ:hzc—l
a; -1 2 " b, 6 2 " ¢y 22 2 a, by, ¢

.". Given equations are consistent and they are
coincident



Now, to represent given equations on graph,

= For 5x-3y=11 =3y=56x-11 =y=
X 1 4
_ 5x-11
= — -2 3
(x,¥) (1.-2) (4, 3)

= For -10x+6y=-22 =6y=10x-22 =y-=

pe 1 4
- 1Ox6—22 _2 3
) | 1-2)| (4.3)

5x —11
x=1 :y:s(ll‘ll :—36 y
x=4 =>y:5(4;“11 :z -3
10x —22
x=1 =>y=10(16)_22 :_612 )
x=4 ﬁy:10(46)—22 - 168 _ 3




_ 5x-11

: -2 3
x,y) | (1,-2)| (4,3)

-10x + 6y = -22 ~
x 1 4
_ 10x —-22
- 0% -2 3

x,y) | A-2) | (4,3)

. Lines are coincident and have infinite solutions




@ Check whether the following equations are consistent or inconsistent.
Solve them graphically.

Ax+y=D
2x + 2y =10

Sol: Given equations, x+y=>5 =>x+y-5z0
2x+2y=10 =22x+2y-10=0

On comparing with a;x + b1y +c¢; =0 ; weget, a;=1; b;=1. ¢=-5

ax + b,y+c, =0 a,= 2, by= 2. c,=-10
— a _ 1 * ﬁ - l C_l —5 — 1 ﬂ - ﬁ = C_l
an B 2 ’ bz 2 ’ C? —10 2 ar b2 C?

.". Given equations are consistent and they are
coincident



> For 4x+6y-24=0 =26y=24-4x>y-=

X 0 3
y = 24;4x 4 5
(x,y) 0.4 | 3.2

=>For 2x+3y-12=0 =23y=12-2x =y-=

X 3
y - 12;2x 4 2
(x,y) 0,4) | (@3.2)

12-2x
3

Now, to represent given equations on graph,

24—4x

6

x=0=Yy

x=3 =)y

_ 24-4(0)
T 6

_ 24-4(3)
T 6

- 24 =4

6

:1_2:2

6



. Lines are coincident and have infinite solutions

=== 4x + 3y =24 -~
. . 0 3
gg ST 2 ,

™ °
RN (x,y) 0.4) | (3,2
Ea =
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@ Check whether the following equations are consistent or inconsistent.
Solve them graphically.

Ax+y=5
2x + 2y =10

Sol: Given equations, x+y=>5 =>x+y-5z0
2x+2y=10 =22x+2y-10=0

On comparing with a;x + b1y +c¢; =0 ; weget, a;=1; b;=1. ¢=-5

ax + b,y+c, =0 a,= 2, by= 2. c,=-10
— a _ 1 * ﬁ - l C_l —5 — 1 ﬂ - ﬁ = C_l
an B 2 ’ bz 2 ’ C? —10 2 ar b2 C?

.". Given equations are consistent and they are
coincident



Now, to represent given equations on graph,

=>For x+y=5 =>y=5-x (21 mys5-1 4

X 1 2
y=9-x 4 3
(x,) (1.4) )

x=2 $y=5-2 :3

= For 2x+2y=10 22(x+)=10 =x+y=5
=>y=bHb-x

X 1 2 x:l:y:5-1 =4

x=2 2y=bH-2 =

e,y (L4 | (@2 3)
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@ Check whether the following equations are consistent or inconsistent.
Solve them graphically.

Hx-y=8
3x -3y =16

Sol: Given equations, x -y =38 =>x-y-8=0
3x-3y=16 =3x-3y-16=0

On comparing with a;x + by +¢; =0 . we get, a;= 1., by=-1; ¢4=-8

a,x+b,y+c, =0 a,= 3; b,=-3; c=-16
a | — — a b c
:—1-:— ;ﬂ:_lzl '6_1:_831 =>—1:—1¢—1
ar 3 b, -3 3 C —16 2 a by ¢

.". Given equations are inconsistent and they are
parallel



=>For x-y=8 =>y=x-8

3

5

y=x-8

-3

-3

(x,y)

)

(5,-3)

= For 3x-3y=16 =3y=3x-16 =Yy

X 1 2
y= 20 433 | -3.33
(x,y) |(,-4.33)]| (2,-3.33)

Now, to represent given equations on graph,

_ 3x-16
3

¥y =1 =Yy

xX=2 >Y

3-8 =5
-5-8 =-3
_3()-16 _ -13
T3 T3
= -4.33
_3(2)-16 _ 10
T3 T3
= -3.33
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@ Check whether the following equations are consistent or inconsistent.
Solve them graphically.

Mj2x+y-6=0
4x -2y-4=0
Sol: Given equations, 2x+y-6=0
4x -2y-4=0
On comparing with a;x +byy+c¢; =0 ; weget, a;=2; by=1. ¢;=-6
ax + b,y+c, =0 a,= 4 ; b,= -2 ; c,= -4
Sa_ 2 1 s b _ 1 _ 1 4 4 21
a, 4 2 by, -2 2 az by

.". Given equations are consistent and they are
intersecting



Now, to represent given equations on graph,

=>For 2x+y-6=0 =2y=6-2x

X | 2
y=6-2x 4 2
(x,y) (1.4) 2,2)

= For 4x-2y-4=0 2202x—-y-2)=0 22x—y-2=0

=y =2x-2
X 1 2

y=2x-2 0 2

x,y) | (1,0) | (2,2)

x=1 =2y=6-2(1) =4

x=2 2y=6-2(2)=2

x=1 =2y=2(1)-2 =0

x=2 =2y=2(2)-2 =2



X | 2
y=6-2x 4 2
(x,y) 1,4) (2.2)
4x -2y-4=0
X 1 2
y=2x-2 0 2
xy) | 1,0) | (2 2)

~. Intersecting point / solution = (2, 2)




Check whether the following equations are consistent or inconsistent.

Solve them graphically.
HN2x-2y-2=0

4x-4y-5=0
Sol: Given equations, 2x-2y-2=0
4x-4y-5=0
On comparing with a;x +byy+¢, =0 ; weget, a;=2; b=-2; ¢~ -2
a,x+b,y+c, =0 a,=4;: b,=-4;c,=-5
:ﬂzzzl : ﬁ:__zzl : C1:—2 :E:ﬂ:ﬁ¢c_1
a, 4 2 b, -4 2 c; -5 5 a bz ¢

.". Given equations are inconsistent and they are
parallel



Now, to represent given equations on graph,
= For 2x-2y-2:=0 =22(x-y-1)=0 =2x—-y-1=0

Sy=x-1
X 2 4

y=x-1 1 3

x,y) | 2.1 | (4.3)

= For 4x -4y-5=0 = 4y=4x-5 =>y=

4x = 5
4

X 0 2
y=%2 | -125 0.75
(x,y) |(0,-1.25) (2,0.75)

x=2 =>y=2-1

x=4 =>y=4-1

x=0 =>y=4(0)_5

4(2)-5

x:2=)y: "
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=3
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X 2 4
y=x-1 1 3
(x,¥) 2.1) | (4.3
4x-4y-5:=0 /
X 0 2
y=Z -1.25 0.75
(x,y) (0,-1.25)| (2,0.75)

». Lines are parallel and have no solutions




